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Second Year Higher Seconcary Examination
Part — Il
BUSINESS STUDIES
Maximum : 80 Scores

Time : 2Y2 Hours
Cool off time : 15 Minutes

/General Instructions to Candidates :

mldequessd :

\

There is a ‘cool off time’ of 15 minutes in addition to the writing time of

2Y2 hrs.
You are not allowed to write your answers nor to discuss anythmg with others

during the ‘cool off time'.
Use the "cool off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the

same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questicns is also provided.

Give equations wherever necessary.
Electronic devices except non programmable calculators are not allowed in

the Examination Hall.
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Identify the odd one and justify.
a) Motivation

b) Policies

¢) Procedure

d) Objectives (1Score)

. Span of control refers to

a) Number of managers

b) Period of appointment of
manager

¢) Number of subordinates under
amanager

d) None of these (1 Score)

- As a part of implementing

scientific management techniques
in his institution, Mr. Aravind
decided to conduct work study.
For that he conduct time study,
motion study and fatigue study.
But he forget to conduct one
related study. Identify it.

(1 Score)

Sonu, the newly appointed staff of
AlphaFood Products Ltd 1S given
training in accounts, purchase,
production and quality control

sections in each week. Identify the

training method. (1 Score)
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9. Mr. Sam, working in production

’ 8. sRattam alieoxnemad eoel
department always receive = : L
_ : 3 oigEM Bl avodind ordaloa
instructions from producticn , =0 2ol

manager only.

a) Which management principle _
is applicable here ? a) £ aQ® BEMEHDY By

b) Who advocated these
principles ? (2 Scores) D) O s DXEMRODR |

e lenTauctatian Q’%Qr}%%&;‘f‘(“\g 7

(2 Scores)
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10. In a class room debatg, N.oushad
argued that administrat:on‘ is a top
level management functlon. an_d
Rehna argued that administrat:gn IS
a lower level management function.
Being the moderator, how will you
conclude the debate. Substantiate

your answer. (2 Scores)
11. State the limitations of
planning. (2 Scores)

12. Devu, the Manager of a business
unit opined that ‘control without,
planning is meaningless.’

a) Do you agree with Devu ?

b) State reason. (2 Scores)

13. “Itis the process of stimulating
subordinates to act for
accomplishing desired goals.”

a) ldentified it

b) State its importance in
business organisation.

(3 Scores)

14. Mr. Hari started an industrial unit
in Tamil Nadu. His son Manu,
your friend appointed as H.R.
manager. Manu appoint 25 staff
in different posts. Advise Manu,
about different types of training .
possible here, (3 Scores)
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- "2v a diagram and explain the
‘_rctional organizational structure

cf AB Lid. (3 Scores)

. As the father of modern

management, Henry Fayol has

suggested some management

principles. List out any six of them.
(3Scores)

‘Delegation of authority leads to
inefficient superiors’.

a) Do you agree with this
statement ?

b) Justify your answer. (3 Scores)
Suppose you are appointed as
marketing inanager in S.K.
industries. State different types

of communications possible here.
Explain each with its
requirements. (4Scores)
Identify the management function
from the following statement. Also
explain different sources of it.

‘Itis the process of searching

for prospective employees and
stimulating them to apply for job

in the organisation”.
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21. Your friend, who is studying in
Science class asked you about
marketing and what are jts
facilitating functions. What reply do

you give ? (4 Scores) O PR (4 Scores)
22. While conducting interview of 22. JL. agmdcies-d 0ORLOF 0T
marketing executives in ag@)e a=celenes aodlae
J.L. agencies, one candidate @O oSy e HEBPRMIVML
replies that ‘consumers have no DalCEIBMCEL L2 26) @OOIBONETRRD
right’. Do you agree with the 8Mo £2 23 2018l maRed.
candidate ? Justify your answer. et =7 T2 En sweemos e
(4Scores) GRYTIELS 7 U Blee)mn.
(4 Scores)
23. List out and explain various 23. lsmsog 80 MOdaImEed
managerial functions to pe 2em2000 Moo aoemesd
performed, if you are appointed M Ao wlewsn Ag)DODEL.
as marager in an organisation. LR HOeIGI agom Algrdie,
(4 Scores) o0y (4 Scores)
24. Write down the contents you have 24. enllrfloans Mdmﬂmﬂ@&" ERTIR
o include in the seminar report THBEECTY agm Afleswniicy

8o OHVdmod Gleajodg) @YOOH
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on the topic business environment
and its classifications.
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A) It is the capital required for
meeting the permanent or long
term needs of the business.

a) ldentify it.
b) Explain factors deterrnining it.

(8 Bcores)

UR
B} “Capital budgeting iz an

important decision making
area for a finance manager”.

Explain.

ST E !
[ R N N 1
. ) N -

4\3 ESTOTR TR )

27. A) What is Marketing ? Write an
€ssay on otjectives of
marketing management. (8 Stoves)

OR
B) What are the different components

of marketing mix ? Why itis so
significant ?
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